

## Generalized geometry of Goncharov and configuration complexes

Muhammad KHALID<sup>1\*</sup>, Javed KHAN,<sup>1</sup> Azhar IQBAL<sup>2</sup>

<sup>1</sup>Department of Mathematical Sciences, Federal Urdu University of Arts, Science & Technology, Karachi, Pakistan

<sup>2</sup>Department of Basic Sciences, Dawood University of Engineering & Technology, Karachi, Pakistan

Received: 07.02.2017

Accepted/Published Online: 19.01.2018

Final Version: 08.05.2018

**Abstract:** In this article, a generalized geometry of Goncharov's complex and the Grassmannian complex will be proposed. First, all new homomorphisms will be defined, and then they will be used extensively to connect the Bloch–Suslin and the Grassmannian complex for weight  $n = 2$  and then Goncharov's complex with Grassmannian complex for weight  $n = 3$ , up to  $n = 6$ . Lastly, and most importantly, generalized morphisms will be presented to cover the geometry of the Goncharov and Grassmannian complex when weight  $n = N$ . Associated diagrams will be exhibited, proven to be commutative.

**Key words:** Classical polylogarithms, Grassmannian, chain complexes, generalization

### 1. Introduction

A free abelian group, generated by all possible projective configurations of  $m$  points in an  $n$ -dimensional vector space, is denoted by  $G_m(n)$ . Suslin [13] was the first mathematician to introduce a chain complex of these free abelian groups, which was named the Grassmannian complex. For this chain complex, Suslin used two types of differential morphisms, one called the differential  $d$  and the other called projection map  $p$ . The associated diagram is proven to be bicomplex and each square commutative.

Leibniz introduced classical polylogarithms function  $Li_p(Z)$  by an infinite series, which was absolutely convergent in a unit disk. The dilogarithm series  $Li_2(Z)$  was studied by Spence, Abel, Kummer, Lobachesky, Hill, Roger, and Ramanujan, but the most important of all was Abel's functional equation, known as Abel's five-term relation [6].

A chain complex of dilogarithm group  $\mathcal{B}_2(F)$  generated by a five-term relation of the cross ratio of four points is called the Bloch–Suslin complex, which is also an exact sequence [4]. Later, Goncharov defined the trilogarithmic group  $\mathcal{B}_3(F)$ , generated by a seven-term relation of the triple cross ratio of six points. A momentous volume of his work addresses the generalization of the triple ratio. Goncharov also generalized the Bloch–Suslin complex for weight  $n$  [4], giving the resulting complex his own name. The author then connected the Bloch–Suslin complex with the Grassmannian complex for weight  $n = 2$  and proved that the associated diagram is bicomplex and commutative. As a result, Goncharov found morphisms between the Grassmannian complex and Goncharov's complex for weight  $n = 3$  [4, 6], proving the associated diagram to be bicomplex and each square to be commutative.

\*Correspondence: khalidsiddiqui@fuuast.edu.pk

2010 AMS Mathematics Subject Classification: 11G55, 14M15, 18G35, 55T25

Cathelineau [1, 2] introduced an infinitesimal analogy of Goncharov’s complex. Naming this Cathelineau’s complex, it introduced the F-vector space as  $\beta_2(F)$ , which was generated by a four-term relation, and  $\beta_3(F)$ , which was generated by a 22-term relation. Ultimately, Cathelineau generalized this group as  $\beta_n(F)$ . Siddiqui [11] used the Kähler differential to define a variant of the Cathelineau complex. For this new complex, the author introduced groups that had the same functional equations as Bloch groups, such as  $\beta_2^D(F)$ , which was generated by a five-term relation, and  $\beta_3^D(F)$ , which was generated by a seven-term relation. Siddiqui connected a variant of Cathelineau’s complex with the Grassmannian complex for weight  $n = 2$  and  $n = 3$ . The associated diagrams were bicomplex and commutative.

Khalid et al. [8, 9] defined new morphisms between the Grassmannian complex and a variant of the Cathelineau complex up to weight  $n = N$ . They furthermore defined second- and third-order homomorphisms in the Grassmannian complex [10] and generalized them as  $n$ th-order morphisms [7].

In this paper, Section two introduces the background of the Grassmannian complex, polylogarithmic groups, the Bloch–Suslin complex, and Goncharov’s complex in detail. The third section presents the concept of the geometry of the Grassmannian chain complex in relation with both Bloch–Suslin and Goncharov complexes for weight  $n = 2$  and 3. The last section defines new homomorphisms between the Grassmannian and the Bloch–Suslin complex for weight  $n = 2$  and shows that the associated diagram is commutative as well as bicomplex. Moreover, the subcomplexes of Goncharov’s complex and the Grassmannian complex are connected for weight  $n = 3$  up to  $n = 6$ . Finally, the morphisms are generalized for the generalization of the geometry of Goncharov’s complex and the Grassmannian complex, for weight  $n = N$ , alongside proving that the associated diagram is commutative.

## 2. Preliminary and background

This section discusses the groundwork that is relevant to the research being conducted. The details of the Grassmannian chain complex, cross ratio, Siegel cross ratio property, polylogarithmic functions, scissor congruence groups, Bloch–Suslin complex, and Goncharov’s complex are presented here, all of which are crucial as preliminary background for this paper.

### 2.1. Grassmannian complex

Following is the Grassmannian chain complex:

$$\begin{array}{ccccccc}
 & & \vdots & & \vdots & & \vdots & & (A) \\
 & & \downarrow p & & \downarrow p & & \downarrow p & & \\
 \cdots & \xrightarrow{d} & G_{n+4}(n+2) & \xrightarrow{d} & G_{n+3}(n+2) & \xrightarrow{d} & G_{n+2}(n+2) & & \\
 & & \downarrow p & & \downarrow p & & \downarrow p & & \\
 \cdots & \xrightarrow{d} & G_{n+3}(n+1) & \xrightarrow{d} & G_{n+2}(n+1) & \xrightarrow{d} & G_{n+1}(n+1) & & \\
 & & \downarrow p & & \downarrow p & & \downarrow p & & \\
 \cdots & \xrightarrow{d} & G_{n+2}(n) & \xrightarrow{d} & G_{n+1}(n) & \xrightarrow{d} & G_n(n) & & 
 \end{array}$$

$d$  is a differential morphism, defined as

$$d : (v_0, \dots, v_n) = \sum_{i=0}^n (-1)^i (v_0, \dots, \hat{v}_i, \dots, v_n), \tag{1}$$

and projection morphism  $p$  is defined as

$$p : (v_0, \dots, v_n) = \sum_{i=0}^n (-1)^i (v_i | v_0, \dots, \hat{v}_i, \dots, v_n). \tag{2}$$

**Lemma 2.1**  $d \circ d = p \circ p = 0$  (see [13]).

**Lemma 2.2**  $d \circ p = p \circ d$  (see [13]).

### 2.2. Siegel cross ratio property

Let us define the cross ratio of 4 points as  $r(v_0, v_1, v_2, v_3) = \frac{\Delta(v_0, v_3)\Delta(v_1, v_2)}{\Delta(v_0, v_2)\Delta(v_1, v_3)}$ . Siegel [12] defined the following most important property of this ratio:

$$1 = \frac{\Delta(v_0, v_3)\Delta(v_1, v_2)}{\Delta(v_0, v_2)\Delta(v_1, v_3)} + \frac{\Delta(v_0, v_1)\Delta(v_2, v_3)}{\Delta(v_0, v_2)\Delta(v_1, v_3)}, \tag{3}$$

or

$$\frac{\Delta(v_0, v_2)\Delta(v_1, v_3) - \Delta(v_0, v_3)\Delta(v_1, v_2)}{\Delta(v_0, v_2)\Delta(v_1, v_3)} = \frac{\Delta(v_0, v_1)\Delta(v_2, v_3)}{\Delta(v_0, v_2)\Delta(v_1, v_3)}. \tag{4}$$

### 2.3. Classical polylogarithmic functions and groups

The classical  $p$ -logarithm is an absolutely convergent series defined as  $Li_p(z) = \sum_{n=0}^{\infty} \frac{z^n}{n^p}$ , in the unit disk  $z \leq 1$ , introduced a decade ago. For  $p = 1$ ,  $Li_1(z) = -Li(1 - z)$  with formula  $\log x + \log y = \log xy$ . In this article, field will be denoted by  $F$  and  $F^{\bullet\bullet} = F - \{0, 1\}$ , and  $Z[\mathbf{P}_F^1/\{0, 1, \infty\}]$  is a free abelian group generated by  $[x]$ .

**Definition 2.1**  $\mathcal{B}(F)$  is a scissor congruence group [3, 5, 11]. It is a quotient of  $Z[\mathbf{P}_F^1]$  and its subgroup is generated by Abel's five-term relation  $[x] - [y] + \left[\frac{y}{x}\right] - \left[\frac{1 - y^{-1}}{1 - x^{-1}}\right] + \left[\frac{1 - y}{1 - x}\right]$  where  $x \neq y$  and  $x, y \neq 0, 1$

### 2.4. Bloch–Suslin and Goncharov complexes

#### 2.4.1. Weight-1

$R_1(F) \subset Z[\mathbf{P}_F^1/\{0, 1, \infty\}]$  is generated by  $\{xy\} - \{x\} - \{y\}$  ( $x, y \in F^\times$ ),  $\mathcal{B}_1(F) = Z[\mathbf{P}_F^1/\{0, 1, \infty\}]/R_1(F)$  and a map  $\delta_1 : \mathcal{B}_1(F) \rightarrow F^\times$  is defined as  $\delta_1 : [x] \rightarrow x$ . This map is called isomorphism. Therefore,  $\mathcal{B}_1(F) \cong F^\times$  [4].

**2.4.2. Weight-2**

$R_2(F) \subset Z[\mathbf{P}_F^1/\{0, 1, \infty\}]$  is generated by the five-term relation of cross ratio  $\sum_{i=0}^4 (-1)^i r(v_0, \dots, \hat{v}_i, \dots, v_4)$ , and we define a map  $\delta_2 : Z[\mathbf{P}_F^1/\{0, 1, \infty\}] \rightarrow \wedge^2 F^\times$ , where  $\delta_2 : [x] \rightarrow (1 - x) \wedge x$ . Now define  $\mathcal{B}_2(F) = Z[\mathbf{P}_F^1/\{0, 1, \infty\}]/R_2(F)$  and connect  $\mathcal{B}_2(F)$  with  $\wedge^2 F^\times$  [4].

$$\mathcal{B}_2(F) \xrightarrow{\delta} \wedge^2 F^\times ,$$

where  $\delta$  is an induced map defined as  $\delta : [x]_2 \rightarrow (1 - x) \wedge x$ . The functional equations of the group  $\mathcal{B}_2(F)$  are

(i) the two-term relation  $[x]_2 + [1 - x]_2 = 0$ , (ii) the inversion relation  $[x]_2 + \left[\frac{1}{x}\right]_2 = 0$ , and (iii) the five-term relation  $[r(v_1, v_2, v_3, v_4)]_2 - [r(v_0, v_2, v_3, v_4)]_2 + [r(v_0, v_1, v_3, v_4)]_2 - [r(v_0, v_1, v_2, v_4)]_2 + [r(v_0, v_1, v_2, v_3)]_2 = 0$ . The following chain is called the Bloch–Suslin complex, which is also an exact sequence [4]:

$$0 \xrightarrow{\delta} \mathcal{B}_2(F) \xrightarrow{\delta} \wedge^2 F^\times \xrightarrow{\delta} 0 .$$

**2.4.3. Weight-3**

Goncharov [4] introduced  $R_3(F) \subset Z[\mathbf{P}_F^1/\{0, 1, \infty\}]$  generated by the seven-term relation of the triple ratio, such that

$$R_3(F) = \sum_{i=0}^6 (-1)^i Alt_6 \left[ \frac{(v_0, v_1, v_3)(v_1, v_2, v_4)(v_0, v_2, v_5)}{(v_0, v_1, v_4)(v_1, v_2, v_5)(v_0, v_2, v_3)} \right], \tag{5}$$

and defined  $\mathcal{B}_3(F) = Z[\mathbf{P}_F^1/\{0, 1, \infty\}]/R_3(F)$  for weight 3. The chain complex of this group is given by

$$\mathcal{B}_3(F) \xrightarrow{\delta} \mathcal{B}_2(F) \otimes F^\times \xrightarrow{\delta} \wedge^3 F^\times ,$$

where  $\delta : [x]_3 \rightarrow [x]_2 \otimes x$  and the functional equation of group  $\mathcal{B}_3(F)$  is the seven-term relation of the triple cross ratio of six points.

**2.4.4. Weight-n**

Goncharov [4] generalized the Bloch group, defined as  $\mathcal{B}_n(F) = Z[\mathbf{P}_F^1/\{0, 1, \infty\}]/R_n(F)$ , where  $R_n(F) \subset Z[\mathbf{P}_F^1]$  is the kernel of the map  $\delta_n : Z[\mathbf{P}_F^1/\{0, 1, \infty\}] \rightarrow \mathcal{B}_{n-1}(F) \otimes F^\times$ . Then Goncharov generalized the following chain complex, called Goncharov’s complex:

$$\mathcal{B}_n(F) \xrightarrow{\delta} \mathcal{B}_{n-1}(F) \otimes F^\times \xrightarrow{\delta} \mathcal{B}_{n-2}(F) \otimes \wedge^2(F) \xrightarrow{\delta} \dots \xrightarrow{\delta} \mathcal{B}_2(F) \otimes \wedge^{n-2}(F) \xrightarrow{\delta} \frac{\wedge^n(F^\times)}{2 - torsion}. \tag{6}$$

**3. Geometry of Grassmannian and polylogarithmic complexes**

For this geometry, Goncharov [4] used morphisms to connect the Grassmannian subcomplex with the Bloch–Suslin complex for weight  $n = 2$  and with his own complex for weight  $n = 3$ .

**3.1. Grassmannian and Bloch–Suslin complexes in weight-2**

For weight  $n = 2$ , Goncharov [4] defined the following geometry:

$$\begin{array}{ccccc}
 G_6(3) & \xrightarrow{d} & G_5(3) & \xrightarrow{d} & G_4(3) \\
 \downarrow p & & \downarrow p & & \downarrow p \\
 G_5(2) & \xrightarrow{d} & G_4(2) & \xrightarrow{d} & G_3(2) \\
 & & \downarrow f_1^2 & & \downarrow f_0^2 \\
 & & \mathcal{B}_2(F) & \xrightarrow{\delta} & \wedge^2 F^\times
 \end{array} \tag{B}$$

$$f_0^2 : (v_0, v_1, v_2) = -\Delta(v_1, v_2) \wedge \Delta(v_0, v_2) + \Delta(v_0, v_2) \wedge \Delta(v_1, v_2) - \Delta(v_0, v_1) \wedge \Delta(v_1, v_2)$$

and

$$f_1^2(v_0, v_1, v_2, v_3) = [r(v_0, \dots, v_3)]_2. \tag{7}$$

**Lemma 3.1**  $f_0^2 \circ d = \delta \circ f_1^2$  (see [4]).

**Lemma 3.2**  $f_0^2 \circ p = f_1^2 \circ p = 0$  (see [4]).

**3.2. Geometry of Grassmannian and Goncharov complexes in weight-3**

As defined in [4, 6], Goncharov constructed the following diagram:

$$\begin{array}{ccccc}
 G_7(4) & \xrightarrow{d} & G_6(4) & \xrightarrow{d} & G_5(4) \\
 \downarrow p & & \downarrow p & & \downarrow p \\
 G_6(3) & \xrightarrow{d} & G_5(3) & \xrightarrow{d} & G_4(3) \\
 \downarrow f_2^3 & & \downarrow f_1^3 & & \downarrow f_0^3 \\
 \mathcal{B}_3(F) & \xrightarrow{\delta} & \mathcal{B}_2(F) \otimes F^\times & \xrightarrow{\delta} & \wedge^3 F^\times
 \end{array} \tag{C}$$

$$f_0^3(v_0, v_1, v_2, v_3) = \sum_{i=0}^3 (-1)^i \bigwedge_{\substack{j \neq i \\ j=i+1}}^3 \Delta(v_0, \dots, \hat{v}_i, \dots, \hat{v}_j, \dots, v_3),$$

$$f_1^3(v_0, v_1, v_2, v_3, v_4) = -\frac{1}{3} \sum_{i=0}^4 (-1)^{i+1} [r(v_i | v_0, \dots, \hat{v}_i, \dots, v_4)]_2 \otimes \prod_{\substack{j \neq i \\ j=i+1}}^4 (v_i, v_j), \text{ and } f_2^3(v_0, \dots, v_5) = \frac{2}{45} Alt_6 [r(v_0, \dots, v_5)]_3.$$

**Lemma 3.3** (i)  $f_0^3 \circ d = \delta \circ f_1^3$  (ii)  $f_1^3 \circ d = \delta \circ f_2^3$  (see [4]).

**Lemma 3.4**  $f_0^3 \circ p = f_1^3 \circ p = f_2^3 \circ p = 0$  (see [4]).

**4. New morphisms and generalization**

In this section, new homomorphisms will be introduced to connect the Grassmannian complex with the Bloch–Suslin complex for weight  $n = 2$ . These morphisms are further extended to connect the Grassmannian complex with Goncharov’s complex for weight  $n = 3$  up to weight  $n = 6$ . Lastly, a generalization of these morphisms will be used to generalize the geometry of the Grassmannian complex and Goncharov’s complex for weight  $n = N$ .

**4.1. Grassmannian and Bloch–Suslin complexes (weight-2)**

First connect the subcomplexes of Grassmannian and Bloch–Suslin complexes.

$$\begin{array}{ccccc}
 G_6(3) & \xrightarrow{p} & G_5(2) & \xrightarrow{p} & G_4(1) \\
 \downarrow d & & \downarrow d & & \downarrow d \\
 G_5(3) & \xrightarrow{p} & G_4(2) & \xrightarrow{p} & G_3(1) \\
 & & \downarrow g_1^2 & & \downarrow g_0^2 \\
 & & \mathcal{B}_2(F) & \xrightarrow{\delta} & \wedge^2 F^\times
 \end{array} \tag{D}$$

Here,

$$g_0^2 : (v_0, v_1, v_2) \rightarrow -\Delta(v_1) \wedge \Delta(v_2) + \Delta(v_0) \wedge \Delta(v_2) - \Delta(v_0) \wedge \Delta(v_1) \pmod{3} \tag{8}$$

and

$$g_1^2 : (v_0, v_1, v_2, v_3) \rightarrow \sum_{i=0}^3 (-1)^i [r(v_0, \dots, v_3)]_2 \pmod{4}. \tag{9}$$

$g_1^2$  is the same as  $f_1^2$  defined in [4], so to show that  $g_0^2$  is a well-defined morphism, see the proof of the lemma below.

**Lemma 4.1**  $g_0^2$  does not depend on the volume formation of the vectors in  $V_2$ .

**Proof** Let  $g_0^2(v_0, v_1, v_2)$  be written as

$$g_0^2(v_0, v_1, v_2) = \frac{\Delta(v_0)}{\Delta(v_1)} \wedge \frac{\Delta(v_2)}{\Delta(v_1)}, \tag{10}$$

and so by changing the volume  $V = \alpha V$  where  $\alpha \in F$  and  $V$  is the volume element, the right side will remain unchanged. Hence,  $g_0^2$  does not depend on the volume formation of the vectors in  $V_2$ .  $\square$

**Lemma 4.2**  $g_0^2 \circ p$  does not depend on the volume formation of the vectors in  $V_2$ .

**Proof** Let  $g_0^2 \circ p(v_0, v_1, v_2, v_3)$  be written as

$$\begin{aligned}
 g_0^2 \circ p(v_0, \dots, v_3) &= \frac{\Delta(v_0|v_1)}{\Delta(v_0|v_2)} \wedge \frac{\Delta(v_0|v_3)}{\Delta(v_0|v_2)} - \frac{\Delta(v_1|v_0)}{\Delta(v_1|v_2)} \wedge \frac{\Delta(v_1|v_3)}{\Delta(v_1|v_2)} \\
 &+ \frac{\Delta(v_2|v_0)}{\Delta(v_2|v_1)} \wedge \frac{\Delta(v_2|v_3)}{\Delta(v_2|v_1)} - \frac{\Delta(v_3|v_0)}{\Delta(v_3|v_1)} \wedge \frac{\Delta(v_3|v_2)}{\Delta(v_3|v_1)},
 \end{aligned} \tag{11}$$

and so by changing the length of vectors  $(v_0, v_1, v_2, v_3) = \alpha(v_0, v_1, v_2, v_3)$  ( $\alpha \in F$ ), due to fractions, the right side will remain unchanged. Therefore,  $g_0^2 \circ p$  does not depend on the length of vectors.  $\square$

**Lemma 4.3** *The diagram  $D$  is bicomplex.*

$$G_4(1) \xrightarrow{d} G_3(1) \xrightarrow{g_0^2} \wedge^2 F^\times \text{ i.e. } g_0^2 \circ d = 0$$

**Proof** If  $(v_0, v_1, v_2, v_3) \in G_4(1)$ , then  $d(v_0, \dots, v_3) = \sum_{i=0}^3 (-1)^i (v_0, \dots, \hat{v}_i, \dots, v_3)$ . Applying morphism  $g_0^2$ ,

$$\begin{aligned} g_0^2 \circ d(v_0, \dots, v_3) &= -\Delta(v_2) \wedge \Delta(v_3) + \Delta(v_1) \wedge \Delta(v_3) - \Delta(v_1) \wedge \Delta(v_2) \\ &\quad + \Delta(v_2) \wedge \Delta(v_3) - \Delta(v_0) \wedge \Delta(v_3) + \Delta(v_0) \wedge \Delta(v_2) \\ &\quad - \Delta(v_1) \wedge \Delta(v_3) + \Delta(v_0) \wedge \Delta(v_3) - \Delta(v_0) \wedge \Delta(v_1) \\ &\quad + \Delta(v_1) \wedge \Delta(v_2) - \Delta(v_0) \wedge \Delta(v_2) + \Delta(v_0) \wedge \Delta(v_1) = 0. \end{aligned} \tag{12}$$

$\square$

**Lemma 4.4** *The lower square of the diagram  $D$  is commutative.*

**Proof** If  $(v_0, v_1, v_2, v_3) \in G_4(2)$ , and map  $p$  is applied,

$$p(v_0, \dots, v_3) = \sum_{j=0}^3 (-1)^j (v_j | v_0, \dots, \hat{v}_j, \dots, v_3). \tag{13}$$

Now apply morphism  $g_0^2$ :

$$g_0^2 \circ p(v_0, \dots, v_3) = g_0^2 \left[ \sum_{j=0}^3 (-1)^j (v_j | v_0, \dots, \hat{v}_j, \dots, v_3) \right]. \tag{14}$$

After simplification,

$$\begin{aligned} g_0^2 \circ p &= -\Delta(v_0, v_2) \wedge \Delta(v_0, v_3) + \Delta(v_0, v_1) \wedge \Delta(v_0, v_3) - \Delta(v_0, v_1) \wedge \Delta(v_0, v_2) \\ &\quad + \Delta(v_1, v_2) \wedge \Delta(v_1, v_3) - \Delta(v_1, v_0) \wedge \Delta(v_1, v_3) + \Delta(v_1, v_0) \wedge \Delta(v_1, v_2) \\ &\quad - \Delta(v_2, v_1) \wedge \Delta(v_2, v_3) + \Delta(v_2, v_0) \wedge \Delta(v_2, v_3) - \Delta(v_2, v_0) \wedge \Delta(v_2, v_1) \\ &\quad + \Delta(v_3, v_1) \wedge \Delta(v_3, v_2) - \Delta(v_3, v_0) \wedge \Delta(v_3, v_2) + \Delta(v_3, v_0) \wedge \Delta(v_3, v_1). \end{aligned} \tag{15}$$

Take  $(v_0, v_1, v_2, v_3) \in G_4(2)$  again and apply morphism  $g_1^2$ :

$$g_1^2(v_0, \dots, v_3) = \left[ \frac{\Delta(v_0, v_3) \Delta(v_1, v_2)}{\Delta(v_0, v_2) \Delta(v_1, v_3)} \right]_2. \tag{16}$$

Now apply morphism  $\delta$ :

$$\begin{aligned} \delta \circ g_1^2(v_0, \dots, v_3) &= \left( 1 - \left[ \frac{\Delta(v_0, v_3) \Delta(v_1, v_2)}{\Delta(v_0, v_2) \Delta(v_1, v_3)} \right] \right) \wedge \left[ \frac{\Delta(v_0, v_3) \Delta(v_1, v_2)}{\Delta(v_0, v_2) \Delta(v_1, v_3)} \right] \\ &= \left( \frac{\Delta(v_0, v_2) \Delta(v_1, v_3) - \Delta(v_0, v_3) \Delta(v_1, v_2)}{\Delta(v_0, v_2) \Delta(v_1, v_3)} \right) \wedge \left[ \frac{\Delta(v_0, v_3) \Delta(v_1, v_2)}{\Delta(v_0, v_2) \Delta(v_1, v_3)} \right]. \end{aligned} \tag{17}$$

Applying the Siegel cross ratio property (see [12]) gives

$$\delta \circ g_1^2(v_0, \dots, v_3) = \left( \frac{\Delta(v_0, v_1)\Delta(v_2, v_3)}{\Delta(v_0, v_2)\Delta(v_1, v_3)} \right) \wedge \left[ \frac{\Delta(v_0, v_3)\Delta(v_1, v_2)}{\Delta(v_0, v_2)\Delta(v_1, v_3)} \right]. \tag{18}$$

Apply wedge properties:

$$\begin{aligned} \delta \circ g_1^2(v_0, \dots, v_3) = & -\Delta(v_0, v_2) \wedge \Delta(v_0, v_3) + \Delta(v_0, v_1) \wedge \Delta(v_0, v_3) - \Delta(v_0, v_1) \wedge \Delta(v_0, v_2) \\ & + \Delta(v_1, v_2) \wedge \Delta(v_1, v_3) - \Delta(v_1, v_0) \wedge \Delta(v_1, v_3) + \Delta(v_1, v_0) \wedge \Delta(v_1, v_2) \\ & - \Delta(v_2, v_1) \wedge \Delta(v_2, v_3) + \Delta(v_2, v_0) \wedge \Delta(v_2, v_3) - \Delta(v_2, v_0) \wedge \Delta(v_2, v_1) \\ & + \Delta(v_3, v_1) \wedge \Delta(v_3, v_2) - \Delta(v_3, v_0) \wedge \Delta(v_3, v_2) + \Delta(v_3, v_0) \wedge \Delta(v_3, v_1). \end{aligned} \tag{19}$$

From Eq. (15) and Eq. (19), it is observed that  $g_0^2 \circ p = \delta \circ g_1^2$ . □

### 4.2. Grassmannian and Goncharov complexes in weight-3

For this weight, connect Grassmannian and Goncharov subcomplexes in weight-3.

$$\begin{array}{ccccc} G_7(3) & \xrightarrow{p} & G_6(2) & \xrightarrow{p} & G_5(1) \\ \downarrow d & & \downarrow d & & \downarrow d \\ G_6(3) & \xrightarrow{p} & G_5(2) & \xrightarrow{p} & G_4(1) \\ & & \downarrow g_1^3 & & \downarrow g_0^3 \\ & & \mathcal{B}_2(F) \otimes F^\times & \xrightarrow{\delta} & \wedge^3 F^\times \end{array} \tag{E}$$

Here,

$$g_0^3 : (v_0, v_1, v_2, v_3) \rightarrow \sum_{i=j+1}^3 (-1)^{i+1} \bigwedge_{\substack{j \neq i \\ j=0}}^3 \Delta(v_j) \pmod{4} \tag{20}$$

and

$$g_1^3 : (v_0, v_1, v_2, v_3, v_4) \rightarrow -\frac{1}{3} \sum_{i=0}^4 (-1)^i [r(v_0, \dots, \hat{v}_i, \dots, v_4)]_2 \otimes \prod_{\substack{m \neq i \\ m=i+1}}^4 \Delta(v_i, v_m) \pmod{5}. \tag{21}$$

**Lemma 4.5**  $g_0^3$  is not dependent on the volume formation of the vectors in  $V_2$ .

**Proof**  $g_0^3(v_0, v_1, v_2)$  can be written as

$$g_0^3(v_0, v_1, v_2, v_3) = -\frac{\Delta(v_0)}{\Delta(v_1)} \wedge \frac{\Delta(v_1)}{\Delta(v_2)} \wedge \frac{\Delta(v_2)}{\Delta(v_3)}, \tag{22}$$

so by changing volume  $V = \alpha V$ , where  $\alpha \in F$ , there will be no change on the right side. Hence,  $g_0^3$  is independent of volume. □



**Lemma 4.6**  $g_0^3 \circ p$  does not depend on the length of vectors in  $V_2$ .

**Proof** The composition of morphisms can be written as

$$\begin{aligned}
 g_0^3 \circ p(v_0, \dots, v_4) = & -\frac{\Delta(v_0|v_1)}{\Delta(v_0|v_2)} \wedge \frac{\Delta(v_0|v_2)}{\Delta(v_0|v_3)} \wedge \frac{\Delta(v_0|v_3)}{\Delta(v_0|v_4)} \\
 & + \frac{\Delta(v_1|v_0)}{\Delta(v_1|v_2)} \wedge \frac{\Delta(v_1|v_2)}{\Delta(v_1|v_3)} \wedge \frac{\Delta(v_1|v_3)}{\Delta(v_1|v_4)} \\
 & - \frac{\Delta(v_2|v_0)}{\Delta(v_2|v_1)} \wedge \frac{\Delta(v_2|v_1)}{\Delta(v_2|v_3)} \wedge \frac{\Delta(v_2|v_3)}{\Delta(v_2|v_4)} \\
 & + \frac{\Delta(v_3|v_0)}{\Delta(v_3|v_1)} \wedge \frac{\Delta(v_3|v_1)}{\Delta(v_3|v_2)} \wedge \frac{\Delta(v_3|v_2)}{\Delta(v_3|v_4)} \\
 & - \frac{\Delta(v_4|v_0)}{\Delta(v_4|v_1)} \wedge \frac{\Delta(v_4|v_1)}{\Delta(v_4|v_2)} \wedge \frac{\Delta(v_4|v_2)}{\Delta(v_4|v_3)}. \tag{23}
 \end{aligned}$$

Hence, by changing the length of vectors  $(v_0, v_1, v_2, v_3) = \alpha(v_0, v_1, v_2, v_3)$  ( $\alpha \in F$ ), the difference becomes zero.  $\square$

**Lemma 4.7**  $g_1^3$  does not depend on the volume formation of vectors in  $V_2$ .

**Proof** The difference of volume  $V$  and  $\alpha V$  ( $\alpha \in F$ ) is given by

$$g_1^3 = -\frac{1}{3} \sum_{i=0}^4 (-1)^i [r(v_0, \dots, \hat{v}_i, \dots, v_4)]_2 \otimes \alpha^4. \tag{24}$$

Since  $\sum_{i=0}^4 (-1)^i [r(v_0, \dots, \hat{v}_i, \dots, v_4)]_2$  represents five-term relation  $\in \mathcal{B}_2(F)$  and equals zero, therefore  $g_1^3$  is independent of volume form.  $\square$

**Lemma 4.8**  $g_1^3 \circ p$  does not depend on the length of vectors in  $V_2$ .

**Proof** Letting  $(v_0, v_1, v_2, v_3, v_4, v_5) = (\omega v_0, v_1, v_2, v_3, v_4, v_5)$  ( $\omega \in F$ ), then  $g_1^3 \circ p((v_0, v_1, v_2, v_3, v_4, v_5) - (\omega v_0, v_1, v_2, v_3, v_4, v_5)) = 0$ . If  $v_0$  is the projection element, the difference will be zero. Otherwise,

$$g_1^3 \circ p((v_0, \dots, v_5) - (\omega v_0, \dots, v_5)) = -\frac{1}{3} \sum_{\substack{i \neq j \\ i=j+1}}^5 (-1)^i \sum_{\substack{j \neq i \\ j=0}}^5 (-1)^j [r(v_i|v_0, \dots, \hat{v}_i, \hat{v}_j, \dots, v_5)]_2 \otimes \omega^5, \tag{25}$$

where summation  $\sum_{\substack{j \neq i \\ j=0}}^5 (-1)^j [r(v_i|v_0, \dots, \hat{v}_i, \hat{v}_j, \dots, v_5)]_2$  is the projected five-term relation  $\in \mathcal{B}_2(F)$  and is equal to zero, and this is enough for the proof of Lemma (4.8).  $\square$

**Lemma 4.9** The diagram  $E$  is bicomplex.

$$(i) \quad G_5(1) \xrightarrow{d} G_4(1) \xrightarrow{g_0^3} \wedge^3 F^\times ; \text{ i.e. } (g_0^3 \circ d = 0)$$

$$(ii) \quad G_6(2) \xrightarrow{d} G_5(2) \xrightarrow{g_1^3} \mathcal{B}_2(F) ; \text{ i.e. } (g_1^3 \circ d = 0)$$

**Proof** (i) Let us assume  $(v_0, v_1, v_2, v_3, v_4)$  to be 5 points  $\in G_5(1)$ , and map  $d$  is applied, so then  $d(v_0, \dots, v_4) = \sum_{i=0}^4 (-1)^i (v_0, \dots, \hat{v}_i, \dots, v_4)$ . Now apply morphism  $g_0^3$ :

$$g_0^3 \circ d(v_0, \dots, v_4) = g_0^3 \left[ \sum_{i=0}^4 (-1)^i (v_0, \dots, \hat{v}_i, \dots, v_4) \right], \tag{26}$$

$$\begin{aligned} g_0^3 \circ d(v_0, \dots, v_4) &= -\Delta(v_2) \wedge \Delta(v_3) \wedge \Delta(v_4) + \Delta(v_1) \wedge \Delta(v_3) \wedge \Delta(v_4) \\ &\quad - \Delta(v_1) \wedge \Delta(v_2) \wedge \Delta(v_4) + \Delta(v_1) \wedge \Delta(v_2) \wedge \Delta(v_3) \\ &\quad + \Delta(v_2) \wedge \Delta(v_3) \wedge \Delta(v_4) - \Delta(v_0) \wedge \Delta(v_3) \wedge \Delta(v_4) \\ &\quad + \Delta(v_0) \wedge \Delta(v_2) \wedge \Delta(v_4) - \Delta(v_0) \wedge \Delta(v_2) \wedge \Delta(v_3) \\ &\quad - \Delta(v_1) \wedge \Delta(v_3) \wedge \Delta(v_4) + \Delta(v_0) \wedge \Delta(v_3) \wedge \Delta(v_4) \\ &\quad - \Delta(v_0) \wedge \Delta(v_1) \wedge \Delta(v_4) + \Delta(v_0) \wedge \Delta(v_1) \wedge \Delta(v_3) \\ &\quad + \Delta(v_1) \wedge \Delta(v_2) \wedge \Delta(v_4) - \Delta(v_0) \wedge \Delta(v_2) \wedge \Delta(v_4) \\ &\quad + \Delta(v_0) \wedge \Delta(v_1) \wedge \Delta(v_4) - \Delta(v_0) \wedge \Delta(v_1) \wedge \Delta(v_2) \\ &\quad - \Delta(v_1) \wedge \Delta(v_2) \wedge \Delta(v_3) + \Delta(v_0) \wedge \Delta(v_2) \wedge \Delta(v_3) \\ &\quad - \Delta(v_0) \wedge \Delta(v_1) \wedge \Delta(v_3) + \Delta(v_0) \wedge \Delta(v_1) \wedge \Delta(v_2) \\ &= 0. \end{aligned} \tag{27}$$

Thus,  $g_0^3 \circ d = 0$ . □

**Proof** (ii) Let us suppose  $(v_0, \dots, v_5) \in G_6(2)$  and apply map  $d$ :

$$d(v_0, \dots, v_5) = \sum_{i=0}^5 (-1)^i (v_0, \dots, \hat{v}_i, \dots, v_5). \tag{28}$$

Now apply morphism  $g_1^3$ :

$$g_1^3 \circ d(v_0, \dots, v_5) = -\frac{1}{3} \sum_{i=0}^5 (-1)^i \sum_{\substack{j \neq i \\ j=i+1}}^5 (-1)^j [r(v_0, \dots, \hat{v}_i, \hat{v}_j, \dots, v_5)]_2 \otimes \prod_{\substack{k \neq j \\ k=j+1}}^5 \Delta(v_j, v_k). \tag{29}$$

The summation  $\sum_{\substack{j \neq i \\ j=i+1}}^5 (-1)^j [r(v_0, \dots, \hat{v}_i, \hat{v}_j, \dots, v_5)]_2$  is the functional equation of  $\mathcal{B}_2(F)$  and is equal to zero, so

$g_1^3 \circ d = 0$ . □

**Lemma 4.10**  $g_0^3 \circ p = \delta \circ g_1^3$ .

**Proof** Let us assume  $(v_0, v_1, v_2, v_3, v_4) \in G_5(2)$  and apply map  $p$ :

$$p(v_0, \dots, v_4) = \sum_{j=0}^4 (v_j | v_0, \dots, \hat{v}_j, \dots, v_4). \tag{30}$$

Applying morphism  $g_0^3$ ,

$$g_0^3 \circ p(v_0, \dots, v_4) = g_0^3 \left[ \sum_{j=0}^4 (v_j | v_0, \dots, \hat{v}_j, \dots, v_4) \right]. \tag{31}$$

After simplifying the composition

$$\begin{aligned} g_0^3 \circ p(v_0, \dots, v_4) = & -\Delta(v_0, v_2) \wedge \Delta(v_0, v_3) \wedge \Delta(v_0, v_4) + \Delta(v_0, v_1) \wedge \Delta(v_0, v_3) \wedge \Delta(v_0, v_4) \\ & - \Delta(v_0, v_1) \wedge \Delta(v_0, v_2) \wedge \Delta(v_0, v_4) + \Delta(v_0, v_1) \wedge \Delta(v_0, v_2) \wedge \Delta(v_0, v_3) \\ & + \Delta(v_1, v_2) \wedge \Delta(v_1, v_3) \wedge \Delta(v_1, v_4) - \Delta(v_1, v_0) \wedge \Delta(v_1, v_3) \wedge \Delta(v_1, v_4) \\ & + \Delta(v_1, v_0) \wedge \Delta(v_1, v_2) \wedge \Delta(v_1, v_4) - \Delta(v_1, v_0) \wedge \Delta(v_1, v_2) \wedge \Delta(v_1, v_3) \\ & - \Delta(v_2, v_1) \wedge \Delta(v_2, v_3) \wedge \Delta(v_2, v_4) + \Delta(v_2, v_0) \wedge \Delta(v_2, v_3) \wedge \Delta(v_2, v_4) \\ & - \Delta(v_2, v_0) \wedge \Delta(v_2, v_1) \wedge \Delta(v_2, v_4) + \Delta(v_2, v_0) \wedge \Delta(v_2, v_1) \wedge \Delta(v_2, v_3) \\ & + \Delta(v_3, v_1) \wedge \Delta(v_3, v_2) \wedge \Delta(v_3, v_4) - \Delta(v_3, v_0) \wedge \Delta(v_3, v_2) \wedge \Delta(v_3, v_4) \\ & + \Delta(v_3, v_0) \wedge \Delta(v_3, v_1) \wedge \Delta(v_3, v_4) - \Delta(v_3, v_0) \wedge \Delta(v_3, v_1) \wedge \Delta(v_4, v_2) \\ & - \Delta(v_4, v_1) \wedge \Delta(v_4, v_2) \wedge \Delta(v_4, v_3) + \Delta(v_4, v_0) \wedge \Delta(v_4, v_2) \wedge \Delta(v_4, v_3) \\ & - \Delta(v_4, v_0) \wedge \Delta(v_4, v_1) \wedge \Delta(v_4, v_3) + \Delta(v_4, v_0) \wedge \Delta(v_4, v_1) \wedge \Delta(v_4, v_2), \end{aligned} \tag{32}$$

take  $(v_0, v_1, v_2, v_3, v_4) \in G_5(2)$ ,

$$\begin{aligned} g_1^3(v_0, \dots, v_4) = & -\frac{1}{3} \left( \left[ r(v_1, v_2, v_3, v_4) \right]_2 \otimes \Delta(v_0, v_1) \Delta(v_0, v_2) \Delta(v_0, v_3) \Delta(v_0, v_4) \right. \\ & - \left[ r(v_0, v_2, v_3, v_4) \right]_2 \otimes \Delta(v_1, v_0) \Delta(v_1, v_2) \Delta(v_1, v_3) \Delta(v_1, v_4) \\ & + \left[ r(v_0, v_1, v_3, v_4) \right]_2 \otimes \Delta(v_2, v_0) \Delta(v_1, v_2) \Delta(v_2, v_3) \Delta(v_2, v_4) \\ & - \left[ r(v_0, v_1, v_2, v_4) \right]_2 \otimes \Delta(v_3, v_0) \Delta(v_1, v_3) \Delta(v_3, v_2) \Delta(v_3, v_4) \\ & \left. + \left[ r(v_0, v_1, v_2, v_3) \right]_2 \otimes \Delta(v_4, v_0) \Delta(v_1, v_4) \Delta(v_4, v_2) \Delta(v_3, v_4) \right), \end{aligned} \tag{33}$$

and then

$$\begin{aligned} \delta \circ g_1^3 = & -\frac{1}{3} \left( (1 - r(v_1, v_2, v_3, v_4)) \otimes r(v_1, v_2, v_3, v_4) \wedge \Delta(v_0, v_1) \Delta(v_0, v_2) \Delta(v_0, v_3) \Delta(v_0, v_4) \right. \\ & - (1 - r(v_0, v_2, v_3, v_4)) \otimes r(v_0, v_2, v_3, v_4) \wedge \Delta(v_1, v_0) \Delta(v_1, v_2) \Delta(v_1, v_3) \Delta(v_1, v_4) \\ & + (1 - r(v_0, v_1, v_3, v_4)) \otimes r(v_0, v_1, v_3, v_4) \wedge \Delta(v_2, v_0) \Delta(v_1, v_2) \Delta(v_2, v_3) \Delta(v_2, v_4) \\ & - (1 - r(v_0, v_1, v_2, v_4)) \otimes r(v_0, v_1, v_2, v_4) \wedge \Delta(v_3, v_0) \Delta(v_1, v_3) \Delta(v_3, v_2) \Delta(v_3, v_4) \\ & \left. + (1 - r(v_0, v_1, v_2, v_3)) \otimes r(v_0, v_1, v_2, v_3) \wedge \Delta(v_4, v_0) \Delta(v_1, v_4) \Delta(v_4, v_2) \Delta(v_3, v_4) \right). \end{aligned} \tag{34}$$

Apply the Siegel cross ratio property:

$$\begin{aligned}
 &= -\frac{1}{3} \left( \frac{\Delta(v_1, v_2)\Delta(v_3, v_4)}{\Delta(v_1, v_3)\Delta(v_2, v_4)} \otimes \frac{\Delta(v_1, v_4)\Delta(v_2, v_3)}{\Delta(v_1, v_3)\Delta(v_2, v_4)} \wedge \Delta(v_0, v_1)\Delta(v_0, v_2)\Delta(v_0, v_3)\Delta(v_0, v_4) \right. \\
 &\quad - \frac{\Delta(v_0, v_2)\Delta(v_3, v_4)}{\Delta(v_0, v_3)\Delta(v_2, v_4)} \otimes \frac{\Delta(v_0, v_4)\Delta(v_2, v_3)}{\Delta(v_0, v_3)\Delta(v_2, v_4)} \wedge \Delta(v_1, v_0)\Delta(v_1, v_2)\Delta(v_1, v_3)\Delta(v_1, v_4) \\
 &\quad + \frac{\Delta(v_0, v_1)\Delta(v_3, v_4)}{\Delta(v_0, v_3)\Delta(v_1, v_4)} \otimes \frac{\Delta(v_0, v_4)\Delta(v_1, v_3)}{\Delta(v_0, v_3)\Delta(v_1, v_4)} \wedge \Delta(v_2, v_0)\Delta(v_1, v_2)\Delta(v_2, v_3)\Delta(v_2, v_4) \\
 &\quad - \frac{\Delta(v_0, v_1)\Delta(v_2, v_4)}{\Delta(v_0, v_2)\Delta(v_1, v_4)} \otimes \frac{\Delta(v_0, v_4)\Delta(v_1, v_2)}{\Delta(v_0, v_2)\Delta(v_1, v_4)} \wedge \Delta(v_3, v_0)\Delta(v_1, v_3)\Delta(v_2, v_3)\Delta(v_3, v_4) \\
 &\quad \left. + \frac{\Delta(v_0, v_1)\Delta(v_2, v_3)}{\Delta(v_0, v_2)\Delta(v_1, v_3)} \otimes \frac{\Delta(v_0, v_3)\Delta(v_1, v_2)}{\Delta(v_0, v_2)\Delta(v_1, v_3)} \wedge \Delta(v_4, v_0)\Delta(v_1, v_4)\Delta(v_2, v_4)\Delta(v_3, v_4) \right). \tag{35}
 \end{aligned}$$

Apply wedge and tensor properties:

$$\begin{aligned}
 \delta \circ g_1^3(v_0, \dots, v_4) &= -\Delta(v_0, v_2) \wedge \Delta(v_0, v_3) \wedge \Delta(v_0, v_4) + \Delta(v_0, v_1) \wedge \Delta(v_0, v_3) \wedge \Delta(v_0, v_4) \\
 &\quad - \Delta(v_0, v_1) \wedge \Delta(v_0, v_2) \wedge \Delta(v_0, v_4) + \Delta(v_0, v_1) \wedge \Delta(v_0, v_2) \wedge \Delta(v_0, v_3) \\
 &\quad + \Delta(v_1, v_2) \wedge \Delta(v_1, v_3) \wedge \Delta(v_1, v_4) - \Delta(v_1, v_0) \wedge \Delta(v_1, v_3) \wedge \Delta(v_1, v_4) \\
 &\quad + \Delta(v_1, v_0) \wedge \Delta(v_1, v_2) \wedge \Delta(v_1, v_4) - \Delta(v_1, v_0) \wedge \Delta(v_1, v_2) \wedge \Delta(v_1, v_3) \\
 &\quad - \Delta(v_2, v_1) \wedge \Delta(v_2, v_3) \wedge \Delta(v_2, v_4) + \Delta(v_2, v_0) \wedge \Delta(v_2, v_3) \wedge \Delta(v_2, v_4) \\
 &\quad - \Delta(v_2, v_0) \wedge \Delta(v_2, v_1) \wedge \Delta(v_2, v_4) + \Delta(v_2, v_0) \wedge \Delta(v_2, v_1) \wedge \Delta(v_2, v_3) \\
 &\quad + \Delta(v_3, v_1) \wedge \Delta(v_3, v_2) \wedge \Delta(v_3, v_4) - \Delta(v_3, v_0) \wedge \Delta(v_3, v_2) \wedge \Delta(v_3, v_4) \\
 &\quad + \Delta(v_3, v_0) \wedge \Delta(v_3, v_1) \wedge \Delta(v_3, v_4) - \Delta(v_3, v_0) \wedge \Delta(v_3, v_1) \wedge \Delta(v_4, v_2) \\
 &\quad - \Delta(v_4, v_1) \wedge \Delta(v_4, v_2) \wedge \Delta(v_4, v_3) + \Delta(v_4, v_0) \wedge \Delta(v_4, v_2) \wedge \Delta(v_4, v_3) \\
 &\quad - \Delta(v_4, v_0) \wedge \Delta(v_4, v_1) \wedge \Delta(v_4, v_3) + \Delta(v_4, v_0) \wedge \Delta(v_4, v_1) \wedge \Delta(v_4, v_2). \tag{36}
 \end{aligned}$$

From Eq. (32) and Eq. (36), it is observed that  $g_0^3 \circ p = \delta \circ g_1^3$ . □

### 4.3. Weight n = 4

The geometry between the subcomplexes of Goncharov in weight-4 and the Grassmannian is as constructed below:

$$\begin{array}{ccccc}
 G_8(3) & \xrightarrow{p} & G_7(2) & \xrightarrow{p} & G_6(1) \\
 \downarrow d & & \downarrow d & & \downarrow d \\
 G_7(3) & \xrightarrow{p} & G_6(2) & \xrightarrow{p} & G_5(1) \\
 & & \downarrow g_1^4 & & \downarrow g_0^4 \\
 & & \mathcal{B}_2(F) \otimes \wedge^2 F^\times & \xrightarrow{\delta} & \wedge^4 F^\times
 \end{array} \tag{F}$$

Here,

$$g_0^4 : (v_0, \dots, v_4) \rightarrow \sum_{i=j+1}^4 (-1)^i \bigwedge_{\substack{j \neq i \\ j=0}}^4 \Delta(v_j) \pmod{5} \tag{37}$$

and

$$g_1^4 : (v_0, \dots, v_5) \rightarrow \frac{1}{6} \sum_{\substack{i \neq j \\ i=0 \\ j=i+1}}^5 (-1)^{i+1} [r(v_0, \dots, \hat{v}_i, \hat{v}_j, \dots, v_5)]_2 \otimes \prod_{\substack{m \neq i \\ m=i+1}}^5 \Delta(v_i, v_m) \wedge \prod_{\substack{m \neq j \\ m=j+1}}^5 \Delta(v_j, v_m) \pmod{6}. \tag{38}$$

**Lemma 4.11** *The diagram F is commutative.*

**Proof** Let us assume  $(v_0, \dots, v_5) \in G_6(2)$  and apply homomorphism  $p$ :

$$p(v_0, \dots, v_5) = \sum_{j=0}^5 (-1)^j (v_j | v_0, \dots, \hat{v}_j, \dots, v_5). \tag{39}$$

Now apply map  $g_0^4$ :

$$g_0^4 \circ p(v_0, \dots, v_5) = \sum_{i=j+1}^5 (-1)^i \sum_{j=0}^5 (-1)^j \bigwedge_{\substack{m \neq j \\ m=j+1}}^5 \Delta(v_j, v_m). \tag{40}$$

Take  $(v_0, \dots, v_5) \in G_6(2)$  again and apply morphism  $g_1^4$ :

$$g_1^4(v_0, \dots, v_5) = \frac{1}{6} \sum_{\substack{i \neq j \\ i=0 \\ j=i+1}}^5 (-1)^{i+1} [r(v_0, \dots, \hat{v}_i, \hat{v}_j, \dots, v_5)]_2 \otimes \prod_{\substack{m \neq i \\ m=i+1}}^5 \Delta(v_i, v_m) \wedge \prod_{\substack{m \neq j \\ m=j+1}}^5 \Delta(v_j, v_m). \tag{41}$$

Now apply morphism  $\delta$ , and then

$$\delta \circ g_1^4(v_0, \dots, v_5) = \frac{1}{6} \sum_{\substack{i \neq j \\ i=0 \\ j=i+1}}^5 (-1)^{i+1} (1 - r(v_0, \dots, \hat{v}_i, \hat{v}_j, \dots, v_5)) \wedge r(v_0, \dots, \hat{v}_i, \hat{v}_j, \dots, v_5) \wedge \prod_{\substack{m \neq i \\ m=i+1}}^5 \Delta(v_i, v_m) \wedge \prod_{\substack{m \neq j \\ m=j+1}}^5 \Delta(v_j, v_m). \tag{42}$$

Using wedge and Siegel cross ratio properties [12],

$$\delta \circ g_1^4(v_0, \dots, v_5) = \sum_{i=j+1}^5 (-1)^i \sum_{j=0}^5 (-1)^j \bigwedge_{\substack{m \neq j \\ m=j+1}}^5 \Delta(v_j, v_m). \tag{43}$$

Thus, from Eq. (40) and Eq. (43), it is proved that the above diagram is commutative. □

4.4. Weight  $n = 5$

By connecting the Grassmannian complex with the subcomplex of Goncharov’s complex, we have:

$$\begin{array}{ccccc}
 G_9(3) & \xrightarrow{p} & G_8(2) & \xrightarrow{p} & G_7(1) \\
 \downarrow d & & \downarrow d & & \downarrow d \\
 G_8(3) & \xrightarrow{p} & G_7(2) & \xrightarrow{p} & G_6(1) \\
 & & \downarrow g_1^5 & & \downarrow g_0^5 \\
 & & \mathcal{B}_2(F) \otimes \wedge^3 F^\times & \xrightarrow{\delta} & \wedge^5 F^\times
 \end{array} \tag{G}$$

Here,

$$g_0^5 : (v_0, \dots, v_5) \rightarrow \sum_{i=j+1}^5 (-1)^i \bigwedge_{\substack{j \neq i \\ j=0}}^5 \Delta(v_j) \pmod{6} \tag{44}$$

and

$$\begin{aligned}
 g_1^5 : (v_0, \dots, v_6) \rightarrow & -\frac{1}{10} \sum_{\substack{i \neq j \neq k \\ i=0 \\ j=i+1 \\ k=i+2}}^6 (-1)^{i+1} [r(v_0, \dots, \hat{v}_i, \hat{v}_j, \hat{v}_k, \dots, v_6)]_2 \otimes \prod_{\substack{m \neq i \\ m=i+1}}^6 \Delta(v_i, v_m) \\
 & \wedge \prod_{\substack{m \neq j \\ m=j+1}}^6 \Delta(v_j, v_m) \wedge \prod_{\substack{m \neq k \\ m=k+1}}^6 \Delta(v_k, v_m) \pmod{7}.
 \end{aligned} \tag{45}$$

**Lemma 4.12** *The above diagram G is commutative.*

**Proof** Let us suppose  $(v_0, \dots, v_6)$  to be 7 points  $\in G_7(2)$  and apply homomorphism  $p$ :

$$p(v_0, \dots, v_6) = \sum_{j=0}^6 (-1)^j (v_j | v_0, \dots, \hat{v}_j, \dots, v_6). \tag{46}$$

Now apply function  $g_0^5$ :

$$g_0^5 \circ p(v_0, \dots, v_6) = \sum_{i=j+1}^5 (-1)^i \sum_{j=0}^6 (-1)^j \bigwedge_{\substack{m \neq j \\ m=j+1}}^6 \Delta(v_j, v_m). \tag{47}$$

Take  $(v_0, \dots, v_6) \in G_7(2)$  again and apply morphism  $g_1^5$ :

$$\begin{aligned}
 g_1^5(v_0, \dots, v_6) = & -\frac{1}{10} \sum_{\substack{i \neq j \neq k \\ i=0 \\ j=i+1 \\ k=i+2}}^6 (-1)^{i+1} [r(v_0, \dots, \hat{v}_i, \hat{v}_j, \hat{v}_k, \dots, v_6)]_2 \otimes \prod_{\substack{m \neq i \\ m=i+1}}^6 \Delta(v_i, v_m) \\
 & \wedge \prod_{\substack{m \neq j \\ m=j+1}}^6 \Delta(v_j, v_m) \wedge \prod_{\substack{m \neq k \\ m=k+1}}^6 \Delta(v_k, v_m).
 \end{aligned} \tag{48}$$

Now, by applying morphism  $\delta$ ,

$$\delta \circ g_1^5(v_0, \dots, v_6) = -\frac{1}{10} \sum_{\substack{i \neq j \neq k \\ i=0 \\ j=i+1 \\ k=i+2}}^6 (-1)^{i+1} (1 - r(v_0, \dots, \hat{v}_i, \hat{v}_j, \hat{v}_k, \dots, v_6)) \wedge r(v_0, \dots, \hat{v}_i, \hat{v}_j, \hat{v}_k, \dots, v_6) \wedge \prod_{\substack{m \neq i \\ m=i+1}}^6 \Delta(v_i, v_m) \wedge \prod_{\substack{m \neq j \\ m=j+1}}^6 \Delta(v_j, v_m) \wedge \prod_{\substack{m \neq k \\ m=k+1}}^6 \Delta(v_k, v_m). \tag{49}$$

Using wedge and Siegel cross ratio properties,

$$\delta \circ g_1^5(v_0, \dots, v_6) = \sum_{i=j+1}^6 (-1)^i \sum_{j=0}^6 (-1)^j \bigwedge_{\substack{m \neq j \\ m=j+1}}^6 \Delta(v_j, v_m). \tag{50}$$

Thus, from Eq. (47) and Eq. (50), the diagram **G** is proved to be commutative. □

#### 4.5. Weight $n = 6$

The geometry for this weight is given as follows:

$$\begin{array}{ccccc} G_{10}(3) & \xrightarrow{p} & G_9(2) & \xrightarrow{p} & G_8(1) \\ \downarrow d & & \downarrow d & & \downarrow d \\ G_9(3) & \xrightarrow{p} & G_8(2) & \xrightarrow{p} & G_7(1) \\ & & \downarrow g_1^6 & & \downarrow g_0^6 \\ & & \mathcal{B}_2(F) \otimes \wedge^4 F^\times & \xrightarrow{\delta} & \wedge^6 F^\times \end{array} \tag{H}$$

Here,

$$g_0^6 : (v_0, \dots, v_6) \rightarrow \sum_{i=j+1}^6 (-1)^i \bigwedge_{\substack{j \neq i \\ j=0}}^6 \Delta(v_j) \pmod{7} \tag{51}$$

and

$$g_1^6 : (v_0, \dots, v_7) \rightarrow \frac{1}{15} \sum_{\substack{i \neq j \neq k \neq l \\ i=0 \\ j=i+1 \\ k=i+2 \\ l=i+3}}^7 (-1)^{i+1} [r(v_0, \dots, \hat{v}_i, \hat{v}_j, \hat{v}_k, \hat{v}_l, \dots, v_7)]_2 \otimes \prod_{\substack{m \neq i \\ m=i+1}}^7 \Delta(v_i, v_m) \wedge \prod_{\substack{m \neq j \\ m=j+1}}^7 \Delta(v_j, v_m) \wedge \prod_{\substack{m \neq k \\ m=k+1}}^7 \Delta(v_k, v_m) \wedge \prod_{\substack{m \neq l \\ m=l+1}}^7 \Delta(v_l, v_m) \pmod{8}. \tag{52}$$

**Lemma 4.13** *The diagram H is commutative.*

**Proof** Let us assume  $(v_0, \dots, v_7)$  are 8 points of dimension two  $\in G_8(2)$  and apply homomorphism  $p$ :

$$p(v_0, \dots, v_7) = \sum_{j=0}^7 (-1)^j (v_j | v_0, \dots, \hat{v}_j, \dots, v_7). \tag{53}$$

Now apply function  $g_0^6$ :

$$g_0^6 \circ p(v_0, \dots, v_7) = \sum_{i=j+1}^7 (-1)^i \sum_{j=0}^7 (-1)^j \bigwedge_{\substack{m \neq j \\ m=j+1}}^7 \Delta(v_j, v_m). \tag{54}$$

Take  $(v_0, \dots, v_7) \in G_8(2)$  again and apply map  $g_1^6$ :

$$g_1^6(v_0, \dots, v_7) = \frac{1}{15} \sum_{\substack{i \neq j \neq k \neq l \\ i=0 \\ j=i+1 \\ k=i+2 \\ l=i+3}}^7 (-1)^{i+1} [r(v_0, \dots, \hat{v}_i, \hat{v}_j, \hat{v}_k, \hat{v}_l, \dots, v_7)]_2 \otimes \prod_{\substack{m \neq i \\ m=i+1}}^7 \Delta(v_i, v_m) \\ \wedge \prod_{\substack{m \neq j \\ m=j+1}}^7 \Delta(v_j, v_m) \wedge \prod_{\substack{m \neq k \\ m=k+1}}^7 \Delta(v_k, v_m) \wedge \prod_{\substack{m \neq l \\ m=l+1}}^7 \Delta(v_l, v_m). \tag{55}$$

By applying morphism  $\delta$ ,

$$\delta \circ g_1^6(v_0, \dots, v_7) = \frac{1}{15} \sum_{\substack{i \neq j \neq k \neq l \\ i=0 \\ j=i+1 \\ k=i+2 \\ l=i+3}}^7 (-1)^{i+1} (1 - r(v_0, \dots, \hat{v}_i, \hat{v}_j, \hat{v}_k, \hat{v}_l, \dots, v_7)) \wedge r(v_0, \dots, \hat{v}_i, \hat{v}_j, \hat{v}_k, \\ \hat{v}_l, \dots, v_7) \wedge \prod_{\substack{m \neq i \\ m=i+1}}^7 \Delta(v_i, v_m) \wedge \prod_{\substack{m \neq j \\ m=j+1}}^7 \Delta(v_j, v_m) \wedge \prod_{\substack{m \neq k \\ m=k+1}}^7 \Delta(v_k, v_m) \wedge \prod_{\substack{m \neq l \\ m=l+1}}^7 \Delta(v_l, v_m). \tag{56}$$

Using wedge and Siegel cross ratio properties, then

$$\delta \circ g_1^6(v_0, \dots, v_7) = \sum_{i=j+1}^7 (-1)^i \sum_{j=0}^7 (-1)^j \bigwedge_{\substack{m \neq j \\ m=j+1}}^7 \Delta(v_j, v_m). \tag{57}$$

Eq. (54) and Eq. (57) prove that diagram H is commutative. □



**4.6. Weight  $n = N$  (generalization)**

Through the prior calculated work, the following generalized diagram of Grassmannian and Goncharov complexes is constructed:

$$\begin{array}{ccccc}
 G_{N+4}(3) & \xrightarrow{p} & G_{N+3}(2) & \xrightarrow{p} & G_{N+2}(1) \\
 \downarrow d & & \downarrow d & & \downarrow d \\
 G_{N+3}(3) & \xrightarrow{p} & G_{N+2}(2) & \xrightarrow{p} & G_{N+1}(1) \\
 & & \downarrow g_1^N & & \downarrow g_0^N \\
 & & \mathcal{B}_2(F) \otimes \wedge^{N-2} F^\times & \xrightarrow{\delta} & \wedge^N F^\times
 \end{array} \quad (N \geq 2) \tag{I}$$

Here,

$$g_0^N : (v_0, \dots, v_N) \rightarrow \sum_{i=j+1}^N (-1)^i \bigwedge_{\substack{j \neq i \\ j=0}}^N \Delta(v_j) \pmod{N+1} \tag{58}$$

and

$$\begin{aligned}
 g_1^N : (v_0, \dots, v_{N+1}) &\rightarrow \frac{1}{N C_2} (-1)^N \sum_{\substack{i_0=0 \\ i_1=i_0+1 \\ i_2=i_0+2 \\ \vdots \\ i_{N-3}=i_0+N-3}}^{N+1} (-1)^{i+1} [r(v_0, \dots, \hat{v}_{i_0}, \hat{v}_{i_1}, \dots, \hat{v}_{i_{N-3}}, \dots, v_{N+1})]_2 \\
 &\otimes \prod_{\substack{m \neq i_0 \\ m=i_0+1}}^{N+1} \Delta(v_{i_0}, v_m) \wedge \prod_{\substack{m \neq i_1 \\ m=i_1+1}}^{N+1} \Delta(v_{i_1}, v_m) \wedge \dots \wedge \prod_{\substack{m \neq i_{N-3} \\ m=1+i_{N-3}}}^{N+1} \Delta(v_{i_{N-3}}, v_m) \pmod{N+2}.
 \end{aligned} \tag{59}$$

**Theorem 4.1**  $\delta \circ g_1^N = g_0^N \circ p$ .

**Proof** Let us assume  $(v_0, \dots, v_{N+1})$  are  $(n + 2)$  points  $\in G_{N+2}(2)$  and apply homomorphism  $p$ :

$$p(v_0, \dots, v_{N+1}) = \sum_{j=0}^{N+1} (-1)^j (v_j | v_0, \dots, \hat{v}_j, \dots, v_{N+1}). \tag{60}$$

Now apply morphism  $g_0^N$ :

$$g_0^N \circ p(v_0, \dots, v_{N+1}) = \sum_{i=j+1}^{N+1} (-1)^i \sum_{j=0}^{N+1} (-1)^j \bigwedge_{\substack{m \neq j \\ m=j+1}}^{N+1} \Delta(v_j, v_m). \tag{61}$$

Take  $(v_0, \dots, v_{N+1}) \in G_{N+2}(2)$  again and apply morphism  $g_1^N$ :

$$\begin{aligned}
 g_1^N(v_0, \dots, v_{N+1}) &= \frac{1}{N C_2} (-1)^N \sum_{\substack{i_0=0 \\ i_1=i_0+1 \\ i_2=i_0+2 \\ \vdots \\ i_{N-3}=i_0+N-3}}^{N+1} (-1)^{i+1} [r(v_0, \dots, \hat{v}_{i_0}, \hat{v}_{i_1}, \dots, \hat{v}_{i_{N-3}}, \dots, v_{N+1})]_2 \\
 &\otimes \prod_{\substack{m \neq i_0 \\ m=i_0+1}}^{N+1} \Delta(v_{i_0}, v_m) \wedge \prod_{\substack{m \neq i_1 \\ m=i_1+1}}^{N+1} \Delta(v_{i_1}, v_m) \wedge \dots \wedge \prod_{\substack{m \neq i_{N-3} \\ m=1+i_{N-3}}}^{N+1} \Delta(v_{i_{N-3}}, v_m). \tag{62}
 \end{aligned}$$

Now apply map  $\delta$ :

$$\begin{aligned}
 \delta \circ g_1^N(v_0, \dots, v_{N+1}) &= \frac{1}{N C_2} (-1)^N \sum_{\substack{i_0=0 \\ i_1=i_0+1 \\ i_2=i_0+2 \\ \vdots \\ i_{N-3}=i_0+N-3}}^{N+1} (-1)^{i+1} (1 - r(v_0, \dots, \hat{v}_{i_0}, \hat{v}_{i_1}, \dots, \hat{v}_{i_{N-3}}, \dots, \\
 &v_{N+1})) \wedge r(v_0, \dots, \hat{v}_{i_0}, \hat{v}_{i_1}, \dots, \hat{v}_{i_{N-3}}, \dots, v_{N+1}) \wedge \prod_{\substack{m \neq i_0 \\ m=i_0+1}}^{N+1} \Delta(v_{i_0}, v_m) \\
 &\wedge \prod_{\substack{m \neq i_1 \\ m=i_1+1}}^{N+1} \Delta(v_{i_1}, v_m) \wedge \dots \wedge \prod_{\substack{m \neq i_{N-3} \\ m=1+i_{N-3}}}^{N+1} \Delta(v_{i_{N-3}}, v_m). \tag{63}
 \end{aligned}$$

Using Siegel and wedge properties,

$$\delta \circ g_1^N(v_0, \dots, v_{N+1}) = \sum_{i=j+1}^{N+1} (-1)^i \sum_{j=0}^{N+1} (-1)^j \bigwedge_{\substack{m \neq j \\ m=j+1}}^{N+1} \Delta(v_j, v_m), \tag{64}$$

from Eq. (61) and Eq. (64), to get  $\delta \circ g_1^N = g_0^N \circ p$ . □

### 5. Conclusion

In this research article, the generalization of the new morphisms is defined to connect Goncharov’s complex with the Grassmannian complex up to weight  $n = N$ . This generalization is devoted to the study of the combinatorial aspect of simplicial complexes, or more exactly to some chain complexes, as they appear in algebraic number theory, algebraic Topology, topological K-theory, and classical polylogarithmic Group theory.

### References

- [1] Cathelineau JL. Remarques sur les différentielles des polylogarithmes uniformes. Ann Inst Fourier Grenoble 1996; 46: 1327-1347 (in French).
- [2] Cathelineau JL. Infinitesimal polylogarithms, multiplicative presentation of Kähler differential and Gonchrove complexes. In: Workshop on Polylogarithms, Essen, Germany, 1997.

- [3] Dupont JL. Scissors Congruences, Group Homology and Characteristic Classes. Nankai Tracts in Mathematics. River Edge, NJ, USA: World Scientific Publishing Co., 2001.
- [4] Goncharov AB. Geometry of configuration, polylogarithms and motivic cohomology. Adv Math 1995; 114: 197-318.
- [5] Goncharov AB. Euclidean scissor congruence groups and mixed Tate motives over dual numbers. Math Res Lett 2004; 11: 771-784.
- [6] Goncharov AB, Zhao J. Grassmannian trilogarithm. Compos Math 2001; 127: 83-108.
- [7] Khalid M, Azhar I, Javed K. Generalization of higher order homomorphism in configuration complexes. Punjab Univ J Math 2017; 49: 37-49.
- [8] Khalid M, Javed K, Azhar I. New homomorphism between Grassmannian and infinitesimal complexes. International Journal of Algebra 2016; 10: 97-112.
- [9] Khalid M, Javed K, Azhar I. Generalization of Grassmannian and polylogarithmic groups complexes. International Journal of Algebra 2016; 10: 221-237.
- [10] Khalid M, Javed K, Azhar I. Higher order Grassmannian complexes. International Journal of Algebra 2016; 10: 405-413.
- [11] Siddiqui R. Morphism between classical and infinitesimal polylogarithmic and Grassmannian complexes. International Journal of Algebra 2012; 6: 1087-1096.
- [12] Siegel CL. Approximation algebraischer Zahlen. Math Z 1921; 10: 173-213 (in German).
- [13] Suslin AA. Homology of  $GL_n$ , characteristic classes and Milnor's K-theory. Lect Notes Math 1989; 1046: 207-226.